





ol
™
o|J
ofg
Ko

ol

=

rﬂ
mgr
© o
TG s
© © ©



st + e

S}
=

09 & &= a2t pet

22 —4x+5 =

4]

ks

017}

4.

ol

@ 3 B 7

3 0



y=x-2x-3(0<x<4)

&
S
e

.

Ul

S

o A



Hi
o

Aloxt—x®—6x2-x+2=0

vzel

%3

o



AHL G ax+by =8, 2ax-by=-29 Ol x=1, y=2% 0,
a, b9 327

®a=-2,b=-3 @ a=3 b=2

® a=2,b=-3 @ a=2b=3



g, o +p° +y°



9. -1<x22 1<y<3¥8d,a<x—y<bE AL b-a9 ZteS
“FobH?

@D -14 ® 1 3) 3 @ 5 B -5



10. 2x-1|+x—4=09] 3|2 F3}lojzt.



11, olAA 2 + 2x k-3 = 00] AZ T F A2 74 of, 34

ko] Zegre?

@D -1 @ 0 3 1 @ 2 3B 3



12.

D a=3,1+V2
® a=31++V3
B a=-1.1++2

rO]l

o]

@
@

-1 o, A= o o] 3t v A

a=-3,1+ 2
a=-3,1+3



O x=2,y=3,z=4
® x=2y=3,z=5

® x=3,y=2,z=4

@ x=2,y=3,z=-4

@ x=2y=-3z=4






15. 2E A%, yoll tiote] vmx? —mx+27F00] opd A57Fd A
m 2] 3ol W90

D o<m<4 @ 4<m<8 ®0<m<8

@ 4<m<8§ B m>8



16.

£ BEshe RE 1o o] B5A] 2 -8 <8L

E‘%/ﬂ |x_2| <kE R
rEe o, A ko] HUg2? (B k> 0)

@D 2 @ 3 B 4 @ 5 ® 6



1_]_,_

<r



18. WA 2 -2 -3 =09] 29 & Fafolet,

v
o



19. A2 -2%kx+ k2 +2k+3=029 F 9 2}7} 2 E WEsH= AL
k 2] 35 atoizt.

B
=¥



x* —ax+b ok

y=x*—bx+a 2 L] W0l x
AT W, a+b 0 72 (Hazb

O
=



21.

x+1  y-3 z+2
2 5 3
Hoghe Pteler,
ge
=

,x2>20,y>0,z>0 ¥ o x2-y? + 72 9



22. ¥-x+1=0% o, ' 9 g Fstoft.

& e
c



2x? +3xy—2y> =0 . ,
23. ﬁ%%@a{Q . o 8% x = a,y = pet T 0,
Xty =

o+ B0 H5RE Taolat,

1D -8 ® -6 3) -4 @ -2 3B 0



24.

ax®> +bx+c>09 7 2<x<59 W, ax?2 —bx+c—-2b>09
s Fobw?

D x<-1, x>4 @ x<-4, x>1 ® -1<x<4

@ -4<x<1 B -4<x<-1



25. -1 <ux <39 BEAS xof thoto] oA FA] x242 (k- 1) x+3k < 0
o] A FHSEF oh= A5 ko] HAGS Fotoizh

e
-



